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Question Number : 1 Question Id : 3271671156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
are known as the suicide bags of the cell.

Options:
| « Lysosomes

- % Mitochondria
= % Plastids

4 = Golgi Complex
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Correct: 1 Wrong: 0

Cabinet Minister "Kalraj Mishra" is associated with which of the following ministries?
Options:

1 % Chemical & Fertilizers

- u [Food Processing Industries

z % Law & Justice

4  Micro. Small & Medium Enterprises
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wet clothes dry more rapidly on a warm day because

Options:
, w» Rate of evaporation decreases with temperature

-  Rate of evaporation increases with temperature

- w Duration of sunlight is more on warm day

4 # Intensity of sunlight is high on a warm day
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following cities is the judicial capital of Odisha since 19487

Options:



1 % Bhubaneswar
- % Rourkela
3 o Cuttack

4 % Puri
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Question Number : 5 Question Id : 3271671160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which city hosted the Tenth World Hindi Conference which was held in India after 32
years with the theme of Hindi Jagat Vistar and Sambhavnaye?

Options:
1 % New Delhi

- % Varanasi
=z % Mumbai

4 « Bhopal
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a herbal drug developed by the scientists of Defence Bio-Energy Research
(DIBER). for treatment of leucoderma (white patches on skin).

Options:
| % ZMapp

> # Doxycycline

z « Lukosin

4 % Atovaquone
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January 26, 1950 was specifically chosen as the "date of commencement" of the
constifution. What was the reason?
Options:

1 % It was the wish of "Pandit Jawaharlal Nelru" the then Prime Minister of India

- % TIhe date was important from astrological point of view

- % A consensus of committee was taken and they decided the date

4 « lt'was on this day in 1930 that Purna Swaraj day was celebrated
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Question Number : 8 Question Id : 3271671163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gautam Buddha gave the Eight fold path called 'Ashtangamarga'’. Which among the
following is not among those Eight?

Options:
, = Right mindfulness

-  Right choice

5 = Right effort

4 = Rightlivelihood
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Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
A qF T 'IFEET ART AHS HTS T FTer TEAT e o7 FEola # ¥
FiT W1 35 HS H Jal &7

Options:

.« Wl AHE FTET
- » Hel =TT
5 » Wl FATH

, % HET AR
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
originally called the "All India War Memorial" 1s a memorial to thousands of
soldiers of undivided British Indian Army who died during First World War.

Options:
, = Gateway of India

> o India Gate
=z % Buland Darwaza

4 % Leh Palace
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Question Number : 10 Question Id : 3271671165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The New Development Bank (NDB) formerly referred to as BRICS Development Bank is
headquartered at

Options:
1 % New Delhi. India

> % Moscow, Russia

- % Johannesburg. South Africa

4 « Shanghai. China
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The essence of policy is that greater freedom is to be given to the
entrepreneur of any industry, trade or business and that governmental control on the same
be reduced to the minimum.
Options:

1 « Liberalization

> % Privatization



= % Globalization

4 % Disinvestment
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Correct: 1 Wrong: 0
Which of the following is not true about constitution of India?

Options:

, w The constitution of India is the lengthiest of all written constitution of the world

- % The constitution of India has been drawn from various sources

- % [Ihe constitution of India establishes a federal system of government

4  The constitution of India guarantees five fundamental rights to all the citizens
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following places is located at the lowest altitude of India?

Options:
; = Kochi, Kerala

5 % Pallakad. Kerala

-  Kuttanad, Kerala

4, = Periyar, Kerala
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Correct: 1 Wrong: 0
Name the first committee set up in 1976 by congress party to make recommendations
about Fundamental Duties for every citizen.
Options:
1 % Verma committee

-  Swaran Singh Cominittee



= % JVP Committee

4 w Standing committee

Question Number : 14 Question Id : 3271671169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Sede ArIE F Hifos Fdedl & ¥ # fAwie goe &
T FE ardt g@rT 1976 & T gger afafy &1 A &

Options:

1 ® Elﬂﬁ'ﬂﬁ?ﬁ'
. » TOr T wfEfa
=z ® mm

, « TS ®AR

Question Number : 15 Question Id : 3271671170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which Indian-American was the winner of Junior Title at US Power lifting championships
20157

Options:

; = Rajinder Singh Rahelu

-, w Amrinder Singh

5 » Nidhi Singh Patel

4  Amitoj Chhabra
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following situation does not involve the process of diffusion?
Options:

, = Fragrance of burning incense stick

- = Spreading of virus on sneezing

= u Spreading of any colour in water

4  Swelling up of raisins on keeping in water
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indian Railway network is largest in Asia and largest in the World.

Options:
1 « Second

- % Third



= % Fourth

4 % Fifth
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statement is Not true?
Options:

 The early Buddhist literature was in Pali

DR

-  Bhanugupta was the last Gupta ruler

- » DBimbisara.a ruler of Magadha was titled as Sreniya

, = Ramayana is also known as Adikavya
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Question Number : 19 Question Id : 3271671174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Election Commission has introduced an option which is designed to allow the voter to
indicate disapproval of all candidates in a voting system means he/she is "against all".
What is that option?

Options:
; = Not Applicable (NA)

> w No Choice (NC)

= » None of the Candidate (NOTC)

4  None of the Above (NOTA)
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Question Number : 20 Question Id : 3271671175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of unemployment results when productivity is low and where too many worlkers
are filling too few jobs?

Options:



; = Cyclical unemployment
-  Disguised unemployment

- % Seasonal unemployment

4 = Compulsory unemployment
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following fact is untrue about the Mughal Emperor. 'Aurangzeb'?
Options:

, w» He abolished the practice of inscribing the Quran on coins

He started imposing many minor taxes like Rahdari & Pandari on his succession
> « to the throne

- % Banned the consumption of bhang. opium & wine

4, = Abolished Solar calendar & adopted the Arab Lunar calendar
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following is known as the father of Microbiology?

Options:
1 « Leeuwenhoek

- % Aristotle
- % Lamarck

4 ® Theophrastus
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won the first Dr. A.P.J. Abdul Kalam Award which is given in recognition of
contributions on scientific development. humanities and students' welfare.



Options:
1 « N.Valarmathi

- % Jothimani Gowthaman

5 w Pranav Mistry

4 # RajaRamanna
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Correct: 1 Wrong: 0
Baking Soda which is used as an antacid. used in fire extinguishers etc. is chemically

Options:
, « Sodium hydrogen carbonate

-~ » Anhydrous sodium carbonate

- % Sodium hydrogen bicarbonate

4 = Sodium hydroxide
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Correct: 1 Wrong: O

is a group of 36 coral islands in the arabian sea located around 300 km to the
west of coast of Kerala.

Options:

,  Lakshdweep

- % Andaman and Nicobar
= % Daman & Diu

4 % Tambaram
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Correct: 1 Wrong: 0



is an indirect tax levied by the central government on goods imported into
India.
Options:
, « Customs duty

» # Excise duty

% % Value Added Tax

4 = Fringe Benefit Tax (FBT)
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Which part of the constitution talks about the Directive Principles of State Policy which
has been described by Dr. Ambedkar as the 'novel features' of Indian constitution?
Options:

1 « PartIV. Article 36 1o 51

5 u PartIV, Article 36 to 50

5 w Part IV, Article 46 to 51

4 u Part IV, Article 46 to 61
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Question Number : 28 Question Id : 3271671183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which Electromagnetic waves is used by cellular phones to transmit voice communication
in the ultrahigh frequency (UHF) band?

Options:
1 « Radio waves

> % Infrared waves
3z % Microwave

4 % X-Ray
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On August 10, 2015 Google Inc. announced its new CEO after completion of formation of
the Alphabet Inc.. the new holding company of Google. What is the name of the person?

Options:
, = Satya Nadella

> % Larry Page

= « Sundar Pichai

4 ® Sergey Brin
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Name the satellite communication project launched in India in 1975 jointly by NASA &
ISRO with the objective to educate the poor on various issues and help India gain technical
experience in the field.

Options:

, w Satellite Information Technology Education (SITE)

- u Satellite Information Television Education (SITE)

- » Satellite Instructional Technology Experiment (SITE)



4 « Satellite Instructional Television Experiment (SITE)
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Enzymes are polymers of

Options:
1 « Amino Acids

» u Fatty Acids

3z % Glucose

4 % Maltase
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Which country was selected as the host for the "2023 ICC Cricket World Cup” which will
be the 4th time the country would host the World Cup?

Options:
1 + India

> % SriLanka

- » England

4 % West Indies

Question Number : 32 Question Id : 3271671187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 33 Question Id : 3271671188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first nuclear reactor in India which went critical on August 4, 1956 named Apsara
used as fuel and as moderator.

Options:
, = Plutonium. heavy water

5 % Plutonium. water



5 Uranium. water

4 = Uranium, graphite

Question Number : 33 Question Id : 3271671188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 34 Question Id : 3271671189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the founder of Gupta dynasty which was founded in the 3rd century A.D?
Options:

, = Maharaja Gatotkacha Gupta

> % Chandragupta-I

5 # Samudragupta

4  Maharaja Sri Gupta

Question Number : 34 Question Id : 3271671189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 35 Question Id : 3271671190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How many Five Year-Plans have been implemented so far in India?

Options:
1 ® 10

o o 11

Question Number : 35 Question Id : 3271671190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 36 Question Id : 3271671191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who conceptualized "PURA" Provision of Urban Amenities to Rural Areas. a strategy that
proposes urban infrastructure and services be provided in rural hubs to create economic
opportunities outside of cities?

Options:
1 « Dr. AP.J. Abdul Kalam

-~ = Atfal Bihari Vajpayee



= % C.K.Prahalad

4 % Narendra Modi
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 3271671192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of "SISRY" a centrally sponsored scheme of govt. of India launched
in 19977
Options:
, = Toprovide Insurance facilities to rural people on low premium

To provide gainful employment to urban unemployed & under employed poor through
-  self-employment or wage employment

- » o line all villages with pucca road

Scheme for labourers of unorganized sector for providing family pension. insurance &
4 # medical
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Question Number : 38 Question Id : 3271671193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is Not a Natural Indicator?

Options:
1 % Litmus

5  Methyl Orange

= % Turmeric

4 # Extract of red cabbage

Question Number : 38 Question Id : 3271671193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 39 Question Id : 3271671194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following Fundamental Right available only to citizens of India and not to
foreigners?

Options:
; = Equality before law and equal protection of laws (Article 14)

- u Protection in respect of conviction for offences (Article 20)

- = Right to elementary education (Asticle 21A)

Prohibition of discrimination on grounds of religion, race. caste. sex or place of birth
4P (Article 15)

Question Number : 39 Question Id : 3271671194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 3271671195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the word "Sovereign" as contained in the Preamble of the constitution implies?

Options:
, « India is neither a dependency nor a dominion of any other nation. but an independent state

- = Holds faith in mixed economy where both public and private sector co-exist side by side

5 u Allreligions (irrespective of their strength) have the same status and support from the state

4 % A sense of brotherhood
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Question Number : 41 Question Id : 3271671196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the mobile based application launched in New Delhi for the safety of women.

Options:
, % HELP
5 « HIMMAT

5 % SURAKSHA

4 % DARE
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Question Number : 42 Question Id : 3271671197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The "National Institution for Transforming India" Aayog which is a govt. of India policy
think tank established by Prime Minister Narendra Modi. Who is the chairperson of this
Aayog?

Options:

. w Arvind Panagariya

5 « Narendra Modi
= % Smt. Sindhushree Khullar

4 = Arun Jaitley
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 43 Question Id : 3271671198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who has recently been elected as the vice president of "Asian Athletics Association", the
continental governing body for the sports of Athletics in Asia?

Options:
1 % Suresh Kalmadi
> % P.T.Usha

z « Lalit Bhanot



4 % Gen. Dahlan Al Hamad
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Question Number : 44 Question Id : 3271671199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which pair has won 2015 Miami Open Women's doubles title held in Miami. Florida?

Options:

, = Martina Hingis & Sabine Lisicki

> % Serena Williams and Sania Mirza

5  Martina Hingis and Sania Mirza

4 w Sania Mirza and Maria Sharapova
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Question Number : 45 Question Id : 3271671200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which emperor of Haryanka Dynasty of Magadha also known as Kunika, son of
Bimbisara is believed to have killed his own father to acquire the throne?

Options:

|« Ajatashatru

> % Chandragupta-I

- » Gautamiputra

4 % Udayin

Question Number : 45 Question Id : 3271671200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 46 Question Id : 3271671201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Winner of "Dada Saheb Phalke Award" in the 62nd National Film Awards 2015 1s

Options:
1. % Pran



- % Gulzar

- « Shashi Kapoor

4 = Jagjit Singh
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

62 F LT oA REFR 2015 H "Z1ET HIRF Fledh RN & &=
gl

Options:
1. = AT0]

A =

o o TR FR

. w ST THE

Question Number : 47 Question Id : 3271671202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the person who designed the symbol of Indian rupee which was presented to the
public by govt. of India on 15th July, 20107

Options:
1 % Nondita Correa-Malhotra

-  D. Udaya Kumar

= % Hitesh Padmashali

4 % Shahrukh J. Trani
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Question Number : 48 Question Id : 3271671203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one of the following is the correct route of National Highway, NH 227
Options:

; » Indo-Pak border passing through Delhi. Haryana & Punjab

-  Indo-China border passing through Haryana, Punjab & Himachal Pradesh

- » Indo-Nepal border passing through Bihar

4 # Indo-Bangladesh border passing through West Bengal

Question Number : 48 Question Id : 3271671203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 49 Question Id : 3271671204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Red soil are red due to presence of and look when occur in hydrated
form.

Options:



, » Iron oxides, black

» w Zinc oxides, black

s  lron oxides. yellow

4 = lronoxides, grey
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Question Number : 50 Question Id : 3271671205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India is largest producer and exporter in the world of which of the following minerals?

Options:
1 % Coal

- % Iron

5 % Copper

4 « Mica
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IR glaar A Frafofea afas # & Fes g8 731 3c9es 3R fFaas
&

Options:



z % Il

4 HAD

Question Number : 51 Question Id : 3271671206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the author of the famous book Brihatsambhita' an encyclopedia of astronomy,
botany. physical geography and natural history?

Options:
| % Vatsyayana

- = Aryabhatta

3 « Varahamihira

4 % Valmiki

Question Number : 51 Question Id : 3271671206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 52 Question Id : 3271671207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the below statement i1s Not true about the characteristics of sound?
Options:



, = Speed of sound increases with humidity
-  Sound travels faster through cold air than warm air

- % Speed of sound is more in solids, less in liquids and least in gases

4 = Speed of sound is about 331 metres per second in dry air
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Question Number : 53 Question Id : 3271671208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is not among the triple gems (Ratnatraya) of Jainism?
Options:

| Samyak Vichar

- # Samyak Gyana

- % Samyak Charitra

4 = Samyak Darshana
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Question Number : 54 Question Id : 3271671209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On Reactivity or Activity series of Metals. which of the following metal 1s less reactive
than Hydrogen?

Options:
1 % Zinc

- % Calcium
2 % Tin

4 « Silver
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Question Number : 55 Question Id : 3271671210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the chairperson of "Drafting Committee" appointed by Constituent Assembly
formed to deal with task of constitution making?

Options:



1 % Sardar Patel
> « B.R. Ambedkar
= # Jawaharlal Nehru

4 R MN. Roy
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Question Number : 56 Question Id : 3271671211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which Indian state became the first to install "Earthquake Early Warning System" to
disseminate warnings 1-40 second before earthquake of magnitude 5 or more occur?

Options:
1 % Jammu & Kashmir

> % New Delhi
z % Odisha

4 « Uttarakhand

Question Number : 56 Question Id : 3271671211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 57 Question Id : 3271671212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the bank which has announced to launch 'green bonds’ in India to raise funds for
investments in environmental projects.

Options:
1 % IDFC bank

> « HSBC bank
= % Axis bank

4 % ICICI bank

Question Number : 57 Question Id : 3271671212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 58 Question Id : 3271671213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In which of the following event Prabhroop Sekhon won two gold medals in Special
Olympics World Games. 20157

Options:

, « Roller Skating

> % Chess championship

- » Billiards championship

4 #% Table Tennis
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Question Number : 59 Question Id : 3271671214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Dachigam Sanctuary is famous for Hangul and is located in which of the following states?

Options:
1 % Andhbra Pradesh
- % Himachal Pradesh

5 o Jammu & Kashmir

4 ® Assam
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 60 Question Id : 3271671215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Expand "SEHAT" a health service of govt. which will connect 60000 common service
centers (CSCs) across the country to a common network.

Options:

, = Society for Healing And Telemedicine

- % Social Endeavour for Health And Transformation
= « Social Endeavour for Health And Telemedicine

4 = Society for Healing And Transformation
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Question Number : 61 Question Id : 3271671216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



When was Goa captured by Portuguese?

Options:
1 ® 1475 AD

Question Number : 61 Question Id : 3271671216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
1 ® 1475 AD

> % 1502 AD
5 « 1510 AD

4 % 1629 AD

Question Number : 62 Question Id : 3271671217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who is known as the 'Father of Indian Freedom'?
Options:

1 % Mahatma Gandhi

> o Subhash Chandra Bose
= % Jawahar Lal Nehru

4 = Rajendra Prasad
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Question Number : 63 Question Id : 3271671218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which is the tallest mountain on the earth when measured from base to summit?
Options:

1 % Mount Everest

o o Mauna Kea

- » Kangchenjunga

4 # K2
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Question Number : 64 Question Id : 3271671219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The ozone layer was discovered by:

Options:
 Svydney Chapman and G M B Dodson

e

> % Sydney Chapman and Henri Buisson



- % GMB Dobson and Charles Fabry

4 « Charles Fabry and Henri Buisson
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Question Number : 65 Question Id : 3271671220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘When was first iPhone availabled by Apple?

Options:
1 % 2003

2005

P2
g{

Question Number : 65 Question Id : 3271671220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® 2003

> % 2005

3 2007



4 % 2009

Question Number : 66 Question Id : 3271671221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Watson. Crick and Wilkins shared the Nobel Prize in Physiology or Medicine "for their
discoveries concerning the molecular structure of nucleic acids and its significance for
information transfer in living material” in

Options:
1« 1962

> % 1953
s % 1958

4 % 1961

Question Number : 66 Question Id : 3271671221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1« 1962

> % 1953
s % 1958

4 % 1961

Question Number : 67 Question Id : 3271671222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who got Shanti Swarup Bhatnagar Award 2015 for Engineering Sciences?
Options:

, « Yogesh Moreshwar Joshi

> # K. Sandeep



5 » Rajeev Kumar Varshney

4 w ViditaAshok Vaidya

Question Number : 67 Question Id : 3271671222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 68 Question Id : 3271671223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The following have signed Mol to work on Ease of Doing Business in the state;
Options:

, » Andhra Pradesh government. Orissa government and Tamil Nadu government

India International Centre (IIC). Confederation of Indian Industry (CII) and Australian
- % University
Andhra Pradesh government, National University of Singapore (NUS) and Confederation

-  Of Indian Industry (CII)

4 = National University of Singapore. Australian University and Delhi University

Question Number : 68 Question Id : 3271671223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 69 Question Id : 3271671224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who won the Femina Miss India 2015 crown?
Options:

1 % Asha Bhat

-  Aditi Arya

5 w vartika Singh

4 % Aafreen Vaz
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Question Number : 70 Question Id : 3271671225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Whitley Awards is also dubbed as:
Options:

1 % Green Peace Award



- % Blue Oscar
= % British Wildlife award

4 « Qreen Oscar
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Question Number : 71 Question Id : 3271671226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
INS Kochi. recently inducted in the Indian navy is One of three Kolkata Class Destroyer to
be inducted in Indian Navy. Which are the other two?

Options:
1 « INS Kolkata & INS Chennai

- = INS Kolkata & INS Vishakapatnam

z % INS Kolkata & INS Mumbai

4 = INS Mumbai & INS Vishakapatnam
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Question Number : 72 Question Id : 3271671227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the tagline of “Swachh Bharat Abhiyan” (Clean India Campaign)?
Options:

¢ One step towards health

L .

5 # One step towards greenry

5  One step towards cleanliness

4 = One step towards development

Question Number : 72 Question Id : 3271671227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 3271671228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which state in India recently passed a Witch Hunting Prohibition, prevention and
Protection Bill?

Options:

1 % Odisha



o o Assam
= % Jharkhand

4 % Sikkim
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Question Number : 74 Question Id : 3271671229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The foundation stone for Sri Venkateshwara Mobile and Electronics Manufacturing hub
was recently laid at:

Options:
1 % Madurai

5 % Mysore

5  lirupati

4 = Visakhapatnam
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Question Number : 75 Question Id : 3271671230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

This exercise conducted by Indian Army in Rajasthan aimed to test a new generation of
weaponry and platforms which are employed in the desert region to provide ‘real time
battle and situational awareness’ to its comunanders:

Options:

1 « Akraman-II

> % Parakram
- % Indra

4 % Varn
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Question Number : 76 Question Id : 3271671231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The State Bank of India was known as before its nationalisation in the year
1955,



Options:
1 % Crown Bank of India

-  lmperial Bank of India

%z % Indian Bank

4 % Oudh Commercial Bank

Question Number : 76 Question Id : 3271671231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 77 Question Id : 3271671232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many applicants have been allowed by RBI to set up small finance Banks under the
“Guidelines for Licensing of Small Finance Banks in the private sector” (Guidelines)
issued on November 27, 20147

Options:
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Question Number : 78 Question Id : 3271671233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who will take over as the Permanent Representative of India to the United Nations in
20167

Options:

; ® Nirupam Sen

- = Asoke Kumar Mukerji

- u Hardeep Singh Puri

4  Syed Akbaruddin

Question Number : 78 Question Id : 3271671233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FiT 2016 # HIFT T H (T & T 9@ & § 7 F1 9T F60

Options:

| % @T9H O

mﬁwgﬁ

P2
B

germ g o
v HTE HEsEE

Question Number : 79 Question Id : 3271671234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following Indian has won the Ramon Magsaysay Award 2015 in Emergent
Leadership Category?

Options:
|« Sanjiv Chaturvedi

> # Arvind Kejriwal

- » Sandeep Pandey

4 % Nileema Mishra

Question Number : 79 Question Id : 3271671234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 80 Question Id : 3271671235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who has been appointed as new chief of The Energy and Resources Institute (TERI)?

Options:
1 % R. K Pachauri

5 o Ajay Mathur

= % Anu Subramaniam

4 # MalniIyer

Question Number : 80 Question Id : 3271671235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CERN scientists have recently discovered a new particle called

Options:

, « Pentaquark

- = Heptaquark

- w Octaquark

4 = Nanoquark

Question Number : 81 Question Id : 3271671236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What was the name of the founder and CEO of Housing.com who recently resigned from
his post?

Options:
; = Rishabh Singh

5 % Shantanu Narayan

= « Rahul Yadav

4 % Nikesh Arora

Question Number : 82 Question Id : 3271671237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 83 Question Id : 3271671238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following seas will have the saltiest water?

Options:
1 % Baltic Sea

> % Black Sea

5 » Caspian Sea

4 « Dead Sea
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Question Number : 84 Question Id : 3271671239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which Indian City was recently awarded the World Craft City by the World Crafts
Council?
Options:

3 Jaipur

> % Mamallapuram

= % Maheshwar

4 % Varanasi

Question Number : 84 Question Id : 3271671239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 85 Question Id : 3271671240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the parent company of Google?



Options:
; = Google Group

> % Google X

=  Alphabet

4 % Numeric

Question Number : 85 Question Id : 3271671240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 86 Question Id : 3271671241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state are the Ajanta Caves located?

Options:
1 % Karnataka

> % Madhya Pradesh

- » Gujarat

4 + Maharashtra

Question Number : 86 Question Id : 3271671241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 87 Question Id : 3271671242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which freedom fighter received fatal injuries during a demonstration against Simon
Commission?
Options:
. Bal Ganga Dhar Tilak

1W
- % Chandrashekhar Azad

5 « LalaLajpat Rai

4 = DBhagat Singh
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 88 Question Id : 3271671243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Indian to be selected to the House of Commons on Liberal Party ticket?
Options:

, « Dadabhai Naoroji



- % Bhimrao Ambedkar

- » Gopal Krishna Gokhale

4 = C.Rajagopalachari

Question Number : 88 Question Id : 3271671243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 89 Question Id : 3271671244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The MPLADS scheme outlay has been increased to:
Options:

; = 2 Crores per Annum

5 of 5 Crores per Annum

5 % 3 crores per Anmun

4 % 10 crores per Annum

Question Number : 89 Question Id : 3271671244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 90 Question Id : 3271671245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the chairman of the Rajya Sabha?

Options:
; = Speaker of the Lok Sabha

- % President
3 o Vice President

4 % Leader of the opposition

Question Number : 90 Question Id : 3271671245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 91 Question Id : 3271671246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the founder of Asia's largest residential University - Banaras Hindu University
(BHU)?
Options:
1 % Annie Besant



-  Madan Mohan Malviya

= # Pandit Nilakantha Das

4 = Satyendra Narayan Sinha
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Question Number : 92 Question Id : 3271671247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Battle of Troy was fought for:

Options:
1 « Helen

5 w Irojan

- % Spartans

4 % Paris

Question Number : 92 Question Id : 3271671247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 93 Question Id : 3271671248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the Great Victoria desert located?
Options:

1 « Australia

- % Africa
=z % Central Asia

4 % South America

Question Number : 93 Question Id : 3271671248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 94 Question Id : 3271671249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One of these is the largest producer of mica in Asia:

Options:
1 % Jordan

- % Brunei



= « India

4 % Hong Kong

Question Number : 94 Question Id : 3271671249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was a noted Indian poet of early 20th century best known for his work Pushp ki
Abhilaashaa'?

Options:

; = Maithili Sharan Gupt

~ % Bhartendu Harishchandra
z « Makhanlal Chaturvedi

4 % Harivansh Rai Bacchan
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 96 Question Id : 3271671251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Avonika Paul is an Indian sportsperson known for which sport?

Options:
1 % Javelin throw

-  Shooting

5 = Archery

4 % Discus throw
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Question Number : 97 Question Id : 3271671252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A car giant was in news recently for emission cheating scandal:

Options:
1 % Ford

- % Renault



5  Volkswagen

4 w Hyundai
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Question Number : 98 Question Id : 3271671253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
One of the following has partnered with Cinema Tourist Swnmit 2015 at Mumbai to
showcase the destination to Bollywood film producers:

Options:
1 % Vietnam

- « Thailand
= % Mauritius

4 # Singapore

Question Number : 98 Question Id : 3271671253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 99 Question Id : 3271671254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

This person was infamous as "The Splitting Killer" and "The Serpent". due to his skill at
deception and evasion:

Options:

; « Charles Sobhraj

-~ % Cyanide Mohan

- » Cyanide Mallika

4 # Darbara Singh
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I7 afeg o AR I F 3 P F FRT "gEE Ffae #R FE. 39
AT ¥ FEAT o

Options:

| T ATHTST
> » TIEASS HIEA
. % TTSAES AfeeH

4 % Gl T fae

Question Number : 100 Question Id : 3271671255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The UN declared recently this region as the most disaster prone part of the world
accounting almost 40 percent of the total disaster:

Options:



1 % South Eastern Asia
> % Northern Asia
- #% Far East Asia

4 + Asia Pacific
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Correct: 1 Wrong: 0
We met him only a week

Options:



o
"
#
=
[
ol

Question Number : 101 Question Id : 3271671256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
We met him only a week

Options:
1 v 280

past

P
®

= # before

4 % back

Question Number : 102 Question Id : 3271671257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Even after repeated warnings. the student to school on time.

Options:
1« 1EeVer comes

- % mnever will come

1$ never coming

t
i

4 % hasnever come

Question Number : 102 Question Id : 3271671257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Even after repeated warnings. the student to school on time.

Options:
1« 1NEVEer comes

- % mnever will come



5 # 1S Never coming

4 % hasnever come

Question Number : 103 Question Id : 3271671258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

People in power often with murder.
Options:
get off

1 =

> w getout

5  getaway

4 % EZeton

Question Number : 103 Question Id : 3271671258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

People in power often with murder.
Options:

get off

1 ®

- w getout

5  getaway

4 % geton

Question Number : 104 Question Id : 3271671259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The water flowed through the whole dam and the village beneath.

Options:
1 % tooverwhelm

- % has overwhelmed

5  Overwhelming

4 % overwhelmed



Question Number : 104 Question Id : 3271671259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The water flowed through the whole dam and the village beneath.

Options:
1 % tooverwhelm

- % has overwhelmed

5  Overwhelming

4 % overwhelmed

Question Number : 105 Question Id : 3271671260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
He went to the library only that it was closed.

Options:
, = fnding

> o to find
- % found

4 % he found

Question Number : 105 Question Id : 3271671260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
He went to the library only that it was closed.

Options:
; = fnding

> « tofind
-z % found

4 % he found

Question Number : 106 Question Id ;: 3271671261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The neighbourhood is not very interesting. I like this house,

Options:



1 % thus

o IOreover

5 o though

4 = although

Question Number : 106 Question Id : 3271671261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The neighbourhood is not very interesting. I like this house,
Options:

1 % thus

5 # 110regver
-  though

4 % although

Question Number : 107 Question Id : 3271671262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Children need for the school activity.
Options:

| « tensilver paper stars

> = paper silver ten stars

- u silver ten paper stars

4 = ten paper silver stars

Question Number : 107 Question Id : 3271671262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Children need for the school activity.
Options:

, « tensilver paper stars

- % paper silver ten stars



5 = silver ten paper stars

4 w tenpaper silver stars

Question Number : 108 Question Id : 3271671263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let’s go out for fresh air.
Options:

1 « alittle

- % lttle
3 % the little

4 % some little

Question Number : 108 Question Id : 3271671263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let’s go out for fresh air.
Options:

1 « alittle

- % lttle
3 % the little

4 % some little

Question Number : 109 Question Id : 3271671264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A: What did he want?
B: Ican’ttell you

Options:
1 #% what is that he wants
- % what did he want

= « What he wanted

4 % what wanted he



Question Number : 109 Question Id : 3271671264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A: What did he want?
B: Ican’ttell you

Options:
1 #% what is that he wants

- % what did he want
= « What he wanted

4 % what wanted he

Question Number : 110 Question Id : 3271671265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After he was knocked out, it took a long time to bring him

Options:
1 % about

> ® over
% % around

4 « round

Question Number : 110 Question Id : 3271671265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After he was knocked out, it took a long time to bring him

Options:
1 % about

5 #® OVer
%z % around

4 « round

Question Number : 111 Question Id : 3271671266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In the question. look at the underlined part of the sentence. Below the sentence, possible
substifutions are given. If any one of the substitutions is better than the underlined part,
choose that substitution as your response. If none of the substitutions improves the
sentence, then choose No improvement as your response.

Don’t expect me fo stand against somebody with muscles that big.

Options:
. « standup to

> % stand for

= # stand first

4 % No improvement

Question Number : 111 Question Id : 3271671266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence, possible
substitutions are given. If any one of the substitutions is better than the underlined part,
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

Don’t expect me to stand against somebody with muscles that big.

Options:

. « Stand up to

- % stand for

= # stand first

4 % No improvement

Question Number : 112 Question Id : 3271671267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

I hurt my foot on a nail which was sticking up from the floor.
Options:

, = Was been stuck up



- u had been stuck up

= w Was being stuck up

4  Noimprovement

Question Number : 112 Question Id : 3271671267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

I hurt my foot on a nail which was sticking up from the floor.

Options:
; % Was been stuck up

- % had been stuck up
- # Was being stuck up

4  Noimprovement

Question Number : 113 Question Id : 3271671268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as yvour response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

Some information has leaked out but we still don’t know what exactly is going on.
Options:

; = has been going on

- w had been going on

5 » canbe going on

4  Noimprovement

Question Number : 113 Question Id : 3271671268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

Some information has leaked out but we still don’t know what exactly is going on.
Options:
; % hasbeen going on

- % had been going on

- » canbe going on

4  Noimprovement

Question Number : 114 Question Id : 3271671269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

There were a few problems when we changed over from the old to the new system to issue
library books.
Options:

; = forissuing

> % in order to issue
» of issuing

» No improvement

Question Number : 114 Question Id ;: 3271671269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as yvour response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

There were a few problems when we changed over from the old to the new system to issue
library books.



Options:
; w forissuing
- % in order to issue

» of issuing

» No improvement

Question Number : 115 Question Id : 3271671270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

If you need any support. you can rely on me to back up vou.
Options:
, w backup

- « back youup

- » backupto you

4 % Noimprovement

Question Number : 115 Question Id : 3271671270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as yvour response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

If you need any support. you can rely on me to back up vou.
Options:

; % backup
- « back youup

5 = backupto you



4 w Noimprovement

Question Number : 116 Question Id : 3271671271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

Some people can only cope up with problems by shutting them out of their mind.
Options:

% Ccope by

¥
5 o COpe with

5 % Copeup

4 % No improvement

Question Number : 116 Question Id : 3271671271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question. look at the underlined part of the sentence. Below the sentence. possible
substitutions are given. If any one of the substitutions is better than the underlined part.
choose that substitution as your response. If none of the substitutions improves the
sentence. then choose No improvement as your response.

Some people can only cope up with problems by shutting them out of their mind.
Options:

% cope by

1
-  Cope with

5 % Ccopeup

4 % No improvement

Question Number : 117 Question Id : 3271671272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The fire in the forest put out, but the greatest problem is replanting the trees.

Options:



1 % have now been

> % has now being

% « lhas now been

4 % have now being

Question Number : 117 Question Id : 3271671272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The fire in the forest put out, but the greatest problem is replanting the trees.
Options:

1 % have now been

- » hasnow being

3 « has now been

4 = have now being

Question Number : 118 Question Id : 3271671273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Prehistoric mammoths. from which modern elephants to be descended. had died
out.
Options:
1 % was believed

~ o are believed
3 % have believed

4 % can believed

Question Number : 118 Question Id : 3271671273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Prehistoric mammoths. from which modern elephants to be descended. had died
out.
Options:
1 % was believed



~ o are believed
=z % have believed

4 % can believed

Question Number : 119 Question Id : 3271671274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
We retreated into the forest just in time, otherwise we spotted.

Options:

1 % would be
~ « would have been
z % were to be

4 % have been

Question Number : 119 Question Id : 3271671274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
We retreated into the forest just in time, otherwise we spotted.

Options:
1 % would be
~ « would have been

z % were to be

4 % have been

Question Number : 120 Question Id : 3271671275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ravi could not measure up to the standards his teacher for the class.

Options:
1. ® set

- % will set

3 #% had set



4 « lhas set

Question Number : 120 Question Id : 3271671275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ravi could not measure up to the standards his teacher for the class.
Options:

1 ® set

> % will set
=z % had set

4 « has set

Question Number : 121 Question Id : 3271671276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When I realized that my socks did not match, I to myself.
Options:

; = will only chuckled

- » canonly chuckle

5 w only chuckled

4 « could only chuckle

Question Number : 121 Question Id : 3271671276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When I realized that my socks did not match, I to myself.

Options:
; = will only chuckled

- » canonly chuckle

- u only chuckled

4 « could only chuckle

Question Number : 122 Question 1d : 3271671277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The old beggar went round collecting things that by others.

Options:
. w Wwill be thrown away

> w Wwas thrown away

=  had been thrown away

4 % could be thrown away

Question Number : 122 Question Id : 3271671277 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

The old beggar went round collecting things that by others.
Options:
. w Wwill be thrown away

> w Wwas thrown away

=  had been thrown away

4 % could be thrown away

Question Number : 123 Question Id : 3271671278 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

Harun sensed that he s0 he called a cab to get away.
Options:
1 % had followed

-  Was being followed
« was following

.

4 % has been followed

Question Number : 123 Question Id : 3271671278 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Harun sensed that he s0 he called a cab to get away.

Options:

Yes

Yes

Yes



1 % had followed

5 o Was being followed

5 = Wwas following

4 # has been followed

Question Number : 124 Question Id : 3271671279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jose and Anne breakfast tomorrow morning. They will make an apple pie.

Options:
1 % have made

- % had made
5 o 8¢ making

4 % would have made

Question Number : 124 Question Id : 3271671279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Jose and Anne breakfast tomorrow morning. They will make an apple pie.

Options:
1 % have made

- % had made

5 o 8¢ making

4 % would have made

Question Number : 125 Question Id : 3271671280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The old house still looked just as it had when he last

Options:
1 % will visit

5 ® Visits



5  Was visifing

4 % has visited

Question Number : 125 Question Id : 3271671280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The old house still looked just as it had when he last

Options:
1 % will visit

- ® Visits
5 o Was visiting

4 % has visited

Question Number : 126 Question Id : 3271671281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The students were not ready to take the test. They to study more.

Options:
1 % has needed
- % will be needed

=z % will need

4 « needed

Question Number : 126 Question Id : 3271671281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The students were not ready to take the test. They to study more.

Options:
1 % has needed
- % will be needed

=z % will need

4 « needed



Question Number : 127 Question Id : 3271671282 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Choose the letter of the underlined word which is wrong:

The Mandeep Maternity and Child Hospital has developed a workshop to help new
fathers in nurturing relation with their child right from the start.

Options:
, = developed

- o relation

= u help

4 = night

Question Number : 127 Question Id : 3271671282 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Choose the letter of the underlined word which is wrong:

The Mandeep Maternity and Child Hospital has developed a workshop to help new
fathers in nurturing relation with their child right from the start.

Options:
, = developed

- o relation

s w help

4 = night

Question Number : 128 Question Id : 3271671283 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Choose the letter of the underlined word which is wrong:

Some individuals want fame and power for themselves. so they did not understand the
importance of teamwork.

Options:
1 % individuals

-~ % for

Yes

Yes

Yes



= « did not

4 % importance

Question Number : 128 Question Id : 3271671283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the letter of the underlined word which is wrong:

Some individuals want fame and power for themselves. so they did not understand the
importance of teamwork.

Options:
1 #% individuals

- % for
3 o did not

4 % importance

Question Number : 129 Question Id : 3271671284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the letter of the underlined word which is wrong:

In many ways, the news media reports on SARS help to educate the public on the kind of
deterrent measure that can be taken against some epidemic or widespread outbreak.

Options:
1 % ways

- % the public

3 « deferrent measure

4 # can be taken

Question Number : 129 Question Id : 3271671284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the letter of the underlined word which is wrong:

In many ways. the news media reports on SARS help to educate the public on the kind of
deterrent measure that can be taken against some epidemic or widespread outbreak.

Options:



| ® ways

> u the public

= « deterrent measure

4 % can be taken

Question Number : 130 Question Id : 3271671285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the letter of the underlined word which is wrong:

The journalists were persistent in fishing for latest gossip concerning the famous singer.

Options:
1 ® WwWere

> w in finishing

= o latest

4 # concerning

Question Number : 130 Question Id : 3271671285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the letter of the underlined word which is wrong:

The journalists were persistent in fishing for latest gossip concerning the famous singer.

Options:
1 ® WwWere

- » infinishing

5 o latest

4 # concerning

Question Number : 131 Question Id : 3271671286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Choose the letter of the underlined word which is wrong:

Encouraged by the support of the people. the government came out with a budget to help
the victims of the epidemic.

Options:
, = Encouraged by

5 «f Came out

5 = tohelp

4 % of

Question Number : 131 Question Id : 3271671286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the letter of the underlined word which is wrong:

Encouraged by the support of the people. the government came out with a budget to help
the victims of the epidemic.

Options:
, = Encouraged by

5 o came out

5 = tohelp

4 % of

Question Number : 132 Question Id ;: 3271671287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Kumar is the only one of those students who lived up to the potential
described in the yearbook.

Options:
1 « has

5 # Was
%z % have

4 ® were



Question Number : 132 Question Id : 3271671287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Kumar is the only one of those students who lived up to the potential
described in the yearbook.
Options:
1 « has

5 % Wwas
z % have

4 ® were

Question Number : 133 Question Id : 3271671288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Each and every student and instructor in this building for a new facility by
next year.

Options:
, « hopes

- % hoped

5 = hope

4 # 1shoped

Question Number : 133 Question Id : 3271671288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Each and every student and instructor in this building for a new facility by
next year.

Options:

, « hopes

- % hoped

5 = hope

4 = 1is hoped

Question Number : 134 Question Id : 3271671289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
When I needed help. he did not ask me questions.

Options:
1 # few

5 % 10

3 ¢ Y

4 ® Some

Question Number : 134 Question Id : 3271671289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When I needed help. he did not ask me questions.

Options:
1 ® few

5 #% 10

5 vy

4 #® some

Question Number : 135 Question 1d : 3271671290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
He could find in the village who could tell him what had gone wrong.

Options:
1 & 1O one

dily 011

ra
#

2 % none

4 % Some one

Question Number : 135 Question Id : 3271671290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
He could find in the village who could tell him what had gone wrong.

Options:
1 & 1O one

o % anyone



= % none

4 ® SOme one

Question Number : 136 Question Id : 3271671291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Don’t be discouraged! have failed to run the marathon.

Options:
| % some

-~ % alot
= % much

4 « many

Question Number : 136 Question Id : 3271671291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Don’t be discouraged! have failed to run the marathon.

Options:
1 ® S0

> % alot

much

A
g{

4  Many

Question Number : 137 Question Id : 3271671292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I can’t let you use much of this perfume. There’s only in the bottle.

Options:
1 % alittle
> % afew

3 % few

4 v little



Question Number : 137 Question Id : 3271671292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I can’t let you use much of this perfume. There’s only in the bottle.

Options:
1 % alittle

> % afew
=z % few

4 v little

Question Number : 138 Question Id : 3271671293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
This is not the first time the car has broken down. It has happened times before.

Options:
1 % alittle

> % few
- o afew

4 % little

Question Number : 138 Question Id : 3271671293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
This is not the first time the car has broken down. It has happened times before.

Options:
1 % alittle

> % few
- o afew

4 % lttle

Question Number : 139 Question Id : 3271671294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I looked around the room, expecting to see piles of books: were visible.

Options:



| w any

> % few
3 « 1one

4 ® some

Question Number : 139 Question Id : 3271671294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I looked around the room, expecting to see piles of books: were visible.
Options:

| ® any

> & few
3 « none

4 % Ssome

Question Number : 140 Question Id : 3271671295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Nearly home in the country has television.

Options:
1 % all

- % each

2 o EVery

, % many

Question Number : 140 Question Id : 3271671295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Nearly home in the country has television.

Options:
1 % all

- % each

5 o EVery



4 % many

Question Number : 141 Question Id : 3271671296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I've phoned him twice. but he’s been ouf on pccasion.

Options:
1 % both

> & every

% « each

4 % all

Question Number : 141 Question Id : 3271671296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I've phoned him twice. but he’s been ouf on pccasion.

Options:
1 % both

> & every

% « each

4 % all

Question Number : 142 Question Id : 3271671297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I met two strangers on the way to work. One of them greeted me and didn’t.

Options:
1 % another
> % other

3 « the other

4 % the next

Question Number : 142 Question Id : 3271671297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



I met two strangers on the way to work. One of them greeted me and didn’t.
Options:
1 % another

- % other
5 o the other

4 % thenext

Question Number : 143 Question Id : 3271671298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Without word he left the room.

Options:
1 « another
- % the next

3 % other

4 % the other

Question Number : 143 Question Id : 3271671298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Without word he left the room.

Options:
1 « another
- % the next

3 % other

4 % the other

Question Number : 144 Question Id : 3271671299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The two countries have worked to set beside their differences (P) Since the cold War and
collapse of the Soviet Union (Q) / in the years (R) / but tension still simmers beneath the
surface (S).

Options:

L QRPS

. » RQPS

- ® PSRQ

, » RPQS

Question Number : 144 Question Id : 3271671299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The two countries have worked to set beside their differences (P) Since the cold War and
collapse of the Soviet Union (Q) / in the years (R) / but tension still simmers beneath the
surface (S).

Options:

L QRPS

. » RQPS

- ® PSRQ

, » RPQS

Question Number : 145 Question Id : 3271671300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The bombardment is defined as stress created by a dependence on technology (P)/ and the
constant state of being plugged or wirelessly connected. (Q) / known as rechnosiiess, (R)
/which can include a perceived obligation to respond. chat. or tweet (S).



Options:
, « PQRS

, » RQPS

. «» RPQS

. % PSRQ

Question Number : 145 Question Id : 3271671300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The bombardment is defined as stress created by a dependence on technology (P)/ and the
constant state of being plugged or wirelessly connected. (Q) / known as rechnosiress, (R)
/which can include a perceived obligation to respond. chat. or tweet (S).

Options:
, « PQRS

, » RQPS

5 o RPQS

. % PSRQ

Question Number : 146 Question Id : 3271671301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The largest grassroots breast cancer advocacy group in the world (P)/ has now been
partnered with (Q) / it is ironic that (R) / the fast food chain KFC known for its high-fat
foods (S).

Options:

| « RPQS

., » PQRS



. RQPS

« PSRQ

Question Number : 146 Question Id : 3271671301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, some parts of the sentence have been jumbled up. You are required
to rearrange these parts which are labelled as P, Q, R and S to produce the correct
sentence. Choose the proper sentence.

The largest grassroots breast cancer advocacy group in the world (P)/ has now been
partnered with (Q) / it is ironic that (R) / the fast food chain KFC known for its high-fat
foods (S).

Options:

, « RPQS

, » PQRS

. x RQPS

, % PSRQ

Question Number : 147 Question Id : 3271671302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If any one of the
substitutions is better than the underlined part, choose that substitution as your
response. If none of the substitutions improves the sentence, then choose No
improvement as your response.

The film director’s house has the image of a Hollywood movie set.

Options:
1 o dppearance

» w suggestion

5 % 1mpression

4 % No improvement

Question Number : 147 Question Id : 3271671302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If anv one of the
substitutions is better than the underlined part, choose that substitution as your
response. If none of the substitutions improves the sentence, then choose No
improvement as vour response.

The film director’s house has the image of a Hollywood movie set.

Options:
1 o appearance

> w suggestion

- % Impression

4 % 1o improvement

Question Number : 148 Question Id : 3271671303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If anv one of the
substitutions is better than the underlined part, choose that substitution as your

response. If none of the substitutions improves the sentence, then choose No
improvement as vour response

E.M. Forster makes a contrast between round characters and flat characters.
Options:

, = dissimilarity

> o distinction

%z % difference

4 % Noimprovement

Question Number : 148 Question Id ;: 3271671303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If anv one of the
substitutions is better than the underlined part, choose that substitution as your
response. If none of the substitutions improves the sentence, then choose No
improvement as vour response

E.M. Forster malkes a contrast between round characters and flat characters.
Options:
, = dissimilarity

» o distinction
5 % difference

4 % No improvement

Question Number : 149 Question Id : 3271671304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If anv one of the
substitutions is better than the underlined part, choose that substitution as your
response. If none of the substitutions improves the sentence, then choose No
improvement as vour response

Little Cheryl tried to imitate a grown up. She dabbed some male —up and put on high
heels.

Options:
, = topretend

> u todisguise

= « to act like

4 % Noimprovement

Question Number : 149 Question Id : 3271671304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In the question, look at the underlined part of each sentence. Below the sentence,
three possible substitutions for that part are given in the options. If anv one of the
substitutions is better than the underlined part, choose that substitution as your
response. If none of the substitutions improves the sentence, then choose No
improvement as vour response

Little Cheryl tried to imitate a grown up. She dabbed some male —up and put on high
heels.

Options:

; = topretend

> u todisguise

% « toact like

4 % Noimprovement

Question Number : 150 Question Id : 3271671305 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

Given below are the four spellings of the same word. Choose the correct one.
Options:

1 % Maintainence

- % Maintainance

= % Maintenaince

4 « Maintenance

Question Number : 150 Question Id : 3271671305 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Given below are the four spellings of the same word. Choose the correct one.
Options:

1 % Maintainence

- % Maintainance

= % Maintenaince

4 « Maintenance

Yes

Yes



Question Number : 151 Question Id : 3271671306 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Given below are the four spellings of the same word. Choose the correct one.
Options:

1 « Deterioration

- % Detirioation

= % Detoriation

4 % Detoriasion

Question Number : 151 Question Id : 3271671306 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

Given below are the four spellings of the same word. Choose the correct one.
Options:

1 « Deterioration

- % Detirioation

= % Detoriation

4 % Detoriasion

Question Number : 152 Question Id : 3271671307 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Given below are the four spellings of the same word. Choose the correct one.
Options:

|« Commentary

5 % Conunentery

5 % Comentary

4 R Comentory

Question Number : 152 Question Id : 3271671307 Question Type: MCQ Option Shuffling: Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Given below are the four spellings of the same word. Choose the correct one.

Options:

Yes

Yes

Yes

:Yes



» Commentary

5 % Conunentery

5 » Comentary

4 R Comentory

Question Number : 153 Question Id : 3271671308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Given below are the four spellings of the same word. Choose the correct one.

Options:
1 % Amatuer

o o Amateur
= % Amature

4 % Amaeture

Question Number : 153 Question Id : 3271671308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Given below are the four spellings of the same word. Choose the correct one.

Options:
1 % Amatuer

o o Amateur
= % Amature

4 % Amaeture

Question Number : 154 Question Id : 3271671309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

The performance of the candidates in the entrance examination was admirable.

Options:



, = laughable

> % dishonourable
5  deplorable

4 w regrettable

Question Number : 154 Question Id : 3271671309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

The performance of the candidates in the entrance examination was admirable.

Options:
, = laughable

> % dishonourable
-  deplorable

4 w regrettable

Question Number : 155 Question Id : 3271671310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

Many of the incidents depicted in the movie appear to be fictitious.
Options:
» 1lmaginary

1
> o real

z # fabricated

4 % actual

Question Number : 155 Question Id : 3271671310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

Many of the incidents depicted in the movie appear to be fictitious,
Options:

, % Imaginary
> o real

- % fabricated

4 % actual

Question Number : 156 Question Id : 3271671311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

The director deprecated the attitude of the leaders of the student union.
Options:
1 % censored

> % abhorred
=  praised

4 % initiated

Question Number : 156 Question Id : 3271671311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

The director deprecated the attitude of the leaders of the student union.
Options:
1 % censored

- % abhorred



5 o praised

4 % inifiated

Question Number : 157 Question Id : 3271671312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

As they were 1dentical twins, it was difficult to mix them up.

Options:
; = take them apart

> u setthem apart

5 o tell them apart

, w think them apart

Question Number : 157 Question Id : 3271671312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Question consists of a word or a phrase which is underlined in the sentence given. It
is followed by four alternative words or phrases. Select the word or phrase which is
closest to the opposite in meaning of the underlined.

As they were 1dentical twins, 1t was difficult to mix them up.

Options:
, = take them apart

- u setthem apart

5 o tell them apart

4 = think them apart

Question Number : 158 Question Id : 3271671313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
That’s not the way to solve the problem. You're it the wrong way.

Options:



C('Illllﬂlg dACross

,_.
i

taking over
5  going about

turning on

e
®

Question Number : 158 Question Id : 3271671313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

That’s not the way to solve the problem. You're it the wrong way.
Options:

% COMINE across

DR

taking over

P
®

5  going about

turning on

Question Number : 159 Question Id : 3271671314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
We sincerely hope that our fund raising efforts do not

Options:
, = fall apart

> « fall short
= % fall out

4 % fall off

Question Number : 159 Question Id : 3271671314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
We sincerely hope that our fund raising efforts do not

Options:
, = fall apart

-~ « fall short



- % fall out

4 % fall off

Question Number : 160 Question Id : 3271671315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The tree is beginning to . It’s covered with flowers :
Options:

1 % unfold

- % peak

= « blossom

4 % bloom

Question Number : 160 Question Id : 3271671315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The tree is beginning to . It’s covered with flowers :
Options:

1 % unfold

> = peak

= « blossom

4 % bloom

Question Number : 161 Question Id : 3271671316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The two police officers their lives so that their colleagues could be saved.

Options:
1 # renounced
> o sacrificed

2 % redeemed

4 % swrendered



Question Number : 161 Question Id : 3271671316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The two police officers their lives so that their colleagues could be saved.
Options:

1 % renounced

> o sacrificed
= % redeemed

4 % swrendered

Question Number : 162 Question Id : 3271671317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Whenever I am worried or upset I seek in music.
Options:

1 « solace

o R pl'['}’

5 w sympathy

4 % relief

Question Number : 162 Question Id : 3271671317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Whenever I am worried or upset I seek in music.
Options:

1 « solace

o R plT.'_“:.-’

5 = Sympathy

4 % relief

Question Number : 163 Question Id : 3271671318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Attacks by enemy planes forced the British army to

Options:



1 % refract

5 o retreat

reverse

t
®

recede

e
#

Question Number : 163 Question Id : 3271671318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Attacks by enemy planes forced the British army to

Options:
1 % refract

5 o retreat
2 % reverse

4 % recede

Question Number : 164 Question Id : 3271671319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Prime Minister has a great personal . He knows how to capture the audience.

Options:
1 + charisma

- % aftractiveness

magnetisim

t
®

appeal

o
&

Question Number : 164 Question Id : 3271671319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Prime Minister has a great personal . He knows how to capture the audience.

Options:
1 « charisma

> % attractiveness



5 % magnetism

4 # appeal

Question Number : 165 Question Id : 3271671320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The restaurant us by charging us more than the usual rates.

Options:
1 « fleeced

- % hoodwinked

duped

M
®

4 % tricked

Question Number : 165 Question Id : 3271671320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The restaurant us by charging us more than the usual rates.

Options:
1 « fleeced

> #% hoodwinked

- » duped

4 % tricked

Question Number : 166 Question Id : 3271671321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Raja was in the land scam as there wasn’t enough evidence against him.

Options:
1 % absolved

> % released

5 u discharged

4 « acquitted



Question Number : 166 Question Id : 3271671321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Raja was in the land scam as there wasn’t enough evidence against him.

Options:
1 % absolved

- % released

5 u discharged

4 « acquitted

Question Number : 167 Question 1d : 3271671322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The chef measured out the needed for making the butter cake cautiously.

Options:
1 % contents
- % substances

= % material

4  ingredients

Question Number : 167 Question Id : 3271671322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The chef measured out the needed for making the butter cake cautiously.

Options:
1 % contents
- % substances

% % material

4  ingredients

Question Number : 168 Question Id : 3271671323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The question below consists of two capitalized words which have a certain
relationship to each other, followed by four pairs of words given in the option.
Choose the pair, which are NOT related to each other in the way the words of the
capitalized pair are related.

PORTRAIT: PAINTER
Options:
, « Plane: pilot

> % Novel: writer

- % Chair: carpenter

4 % Dress: tailor

Question Number : 168 Question Id : 3271671323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The question below consists of two capitalized words which have a certain
relationship to each other, followed by four pairs of words given in the option.
Choose the pair, which are NOT related to each other in the way the words of the
capitalized pair are related.

PORTRAIT: PAINTER
Options:

, « Plane: pilot

> % Novel: writer

- w Chair: carpenter

4 % Dress: tailor

Question Number : 169 Question Id : 3271671324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The question below consists of two capitalized words which have a certain
relationship to each other, followed by four pairs of words given in the option.
Choose the pair, which are NOT related to each other in the way the words of the
capitalized pair are related.

SCURRY: MOVE
Options:
1 % Waltz: dance



o o Carry: lift

- u Fling: throw

4 % Chant: sing

Question Number : 169 Question Id : 3271671324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The question below consists of two capitalized words which have a certain
relationship to each other, followed by four pairs of words given in the option.
Choose the pair, which are NOT related to each other in the way the words of the
capitalized pair are related.

SCURRY: MOVE
Options:
1 % Waltz: dance

- o Carry: lift

5 # Fling: throw

4 = Chant: sing

Question Number : 170 Question Id : 3271671325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word or phrase which is opposite in meaning to the given word.
DEFER :

Options:
| Postpone

- % Surrender
-  Bring forward

4 % Cancel

Question Number : 170 Question Id : 3271671325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Choose the word or phrase which is opposite in meaning to the given word.

DEFER :
Options:
1 % Postpone

> % Surrender
-  Bring forward

4 % Cancel

Question Number : 171 Question Id : 3271671326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word or phrase which is opposite in meaning to the given word.

DIMINISH :
Options:
, « Enlarge

> % Revive

5 s Change

4 u Develop

Question Number : 171 Question Id : 3271671326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word or phrase which is opposite in meaning to the given word.

DIMINISH :
Options:

, « Enlarge
- % Revive

- % Change

4 # Develop

Question Number : 172 Question Id : 3271671327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Choose the word or phrase which is opposite in meaning to the given word.

SPORADICALLY :
Options:
, » Occasionally

-  Frequently

- u Rarely

4 = Incessantly

Question Number : 172 Question Id : 3271671327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the word or phrase which is opposite in meaning to the given word.

SPORADICALLY :
Options:
; = Occasionally

-  Frequently

- u Rarely

4 = Incessantly

Question Number : 173 Question Id : 3271671328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question choose the meaning that best suits the given word.

Paradox :
Options:
; = Anestablished opinion

- « A statement that contradicts itself
= % A record of historical events

4 = Aninvented story



Question Number : 173 Question Id : 3271671328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question choose the meaning that best suits the given word.

Paradox :
Options:
. w Anestablished opinion

- « A statement that contradicts itself
= % A record of historical events

4 w Aninvented story

Question Number : 174 Question Id : 3271671329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question choose the meaning that best suits the given word.

Nascent :
Options:
1 « Just born

» = A piece of news

= % Able to be seen

4 = Capable of being done

Question Number : 174 Question Id : 3271671329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the question choose the meaning that best suits the given word.

MNascent :

Options:
1 « Just born

> # Apiece of news

%z % Able to be seen

4 = Capable of being done



Question Number : 175 Question Id : 3271671330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

AMPUTATE :
Options:
1 % Cut down

> w Cutthrough

s % Cut up

4 « Cutoff

Question Number : 175 Question Id : 3271671330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

AMPUTATE :
Options:
1 ®% Cut down

- w Cutthrough

2 R Cut up

4 « Cutoff

Question Number : 176 Question Id : 3271671331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

SCORCH :
Options:

1 % Wither
- % Parch

3 % Bake

4 « Bum



Question Number : 176 Question Id : 3271671331 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

SCORCH :
Options:

1 #% Wither
- % Parch

3 % Bake

4 « Bum

Question Number : 177 Question Id : 3271671332 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.
PLUMMET :
Options:
1 % Decrease
- % Dwindle

3 % Decline

4 « Crash

Question Number : 177 Question Id : 3271671332 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.
PLUMMET :
Options:
1 % Decrease
> % Dwindle

3 % Decline

4 « Crash

Yes

Yes

Yes



Question Number : 178 Question Id : 3271671333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

ELUSIVE :
Options:
1 « Evasive

» » Confusing

- # Contradictory

4 = Misleading

Question Number : 178 Question Id : 3271671333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

ELUSIVE :
Options:
1 « Evasive

> w Confusing

- = Contradictory

4 % Misleading

Question Number : 179 Question Id : 3271671334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

INCREDIBLE :
Options:
1 « Unbelievable

» = Non-payable

% % Unthinkable

4 = Unconvincing



Question Number : 179 Question Id : 3271671334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the choice word whose meaning is the similar to the word in capitals.

INCREDIBLE :
Options:
1 « Unbelievable

» = Non-payable

= #% Unthinkable

4 = Unconvineing

Question Number : 180 Question Id : 3271671335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select from the choices that word whose meaning is opposite to the meaning of the
word in capital.

INDOLENT :
Options:
1 % Careful

o o Energetic

- u Respectful

4 % Honest

Question Number : 180 Question Id : 3271671335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select from the choices that word whose meaning is opposite to the meaning of the
word in capital.

INDOLENT :
Options:
1 % Careful

.  Energetic



5 = Respectful

4 % Honest

Question Number : 181 Question Id : 3271671336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select from the choices that word whose meaning is opposite to the meaning of the
word in capital.

AMIABLE :
Options:
1 % Sorrowful

- % Silent

5  Disagreeable

4 #% Talkative

Question Number : 181 Question Id : 3271671336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select from the choices that word whose meaning is opposite to the meaning of the
word in capital.

AMIABLE :
Options:
1 % Sorrowful

> % Silent

5  Disagreeable

4 % Talkative

Question Number : 182 Question Id : 3271671337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

His diffidence was out of place in this outgoing group.

Options:



1 « boldness
shyness

smartness

A
g{

4 # recklessness

Question Number : 182 Question Id : 3271671337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

His diffidence was out of place in this outgoing group.
Options:
1 « boldness

shyness

smartness

t
g{

4 % recklessness

Question Number : 183 Question Id : 3271671338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

The flood waters had not receded. and the situation was still critical.
Options:
, ® unimportant

- o safe

5 % dangerous

4 = Dpositive

Question Number : 183 Question 1d : 3271671338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

The flood waters had not receded. and the situation was still critical.
Options:
, % unimportant

> o Safe

5 » dangerous

4 = Dpositive

Question Number : 184 Question Id : 3271671339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

Many writers continue to churn out insipid pieces of work.
Options:
|  1maginative

-, w energetic

z # humorous

4 # regular

Question Number : 184 Question Id : 3271671339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the word or phrase which is closest to the opposite in meaning of the
underlined word or phrase.

Many writers continue to churn out insipid pieces of work.
Options:
|  Imaginative

¢ energetic

z. "

z # humorous



4 = regular

Question Number : 185 Question 1d : 3271671340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the appropriate word which best represents the given set of words.

The study of the nature of God and religious beliefs.
Options:
, « Theology

> % [Iheosophy

- » Philosophy

4 # Godology

Question Number : 185 Question Id : 3271671340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the appropriate word which best represents the given set of words.

The study of the nature of God and religious beliefs.
Options:
, « Theology

> % Theosophy

5 » Philosophy

4 = Godology

Question Number : 186 Question Id : 3271671341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the appropriate word which best represents the given set of words.

Importance or reputation gained by ability or achievement.

Options:
= Celebrity

- u Height



= o Stature

4 % Influence

Question Number : 186 Question Id : 3271671341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the appropriate word which best represents the given set of words,

Importance or reputation gained by ability or achievement.

Options:
; = Celebrity

- w Height

= o Stature

4 % Influence

Question Number : 187 Question Id : 3271671342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the appropriate word which best represents the given set of words.

Very attentive to and concerned about accuracy and detail.
Options:
1 % Concerned

~ « Fastidious
z % Careful

4 w Demanding

Question Number : 187 Question Id : 3271671342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the appropriate word which best represents the given set of words.

Very attentive to and concerned about accuracy and detail.
Options:
1 % Concerned



-~ « Fastidious
z % Careful

4 % Demanding

Question Number : 188 Question Id : 3271671343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the appropriate word which best represents the given set of words.

To provide or serve as evidence of .

Options:
1 #% Refute

o o Aftest

5 n Certify

4 % Endorse

Question Number : 188 Question Id ;: 3271671343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the appropriate word which best represents the given set of words,

To provide or serve as evidence of .

Options:
1 % Refute

o o Aftest

o u Certify

4 % Endorse

Question Id : 3271671344 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (189 to 192)
Cuestion Label © Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

When people think of pirates, they usually imagine one-eyed men with beards and swords
fighting over buried treasure. But even in this age of satellites and instant communication.
pirates still attack ships on the high seas.

The worst areas for piracy are the coasts of South America. South East Asia. and Africa.
Modern pirates are usually armed with machine guns. speedboats. and mobile phones.

In a typical attack at least 10 men in a high-speed launch will follow a freighter. on which
an insider has usuvally been planted beforehand to provide location and freight details.
Once boarded they will either hijack the ship for its cargo. or. more typically, go straight to
the captain's safe. which usually contains tens of thousands of dollars in petty cash.

Sometimes the ship is repainted and given a new name,. and false documents are used to
create a new identity for the vessel. The pirates” preferred cargo is tin, oil, and aluminum.
Usually. the heist is well-planned in advance on land. As soon as the ship is successtully
boarded. a deal is made to exchange the cargo for money.

Sub questions

Question Number : 189 Question Id : 3271671345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The word fireighter in the text refers to:
Options:

, « A cargo ship

-~ = A pirate ship
5 = Alarge motor vehicle

4 = Afighter ship

Question Number : 190 Question Id : 3271671346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How does the insider help the pirates?

Options:
, « Heprovided details of the location of the ship.

- » He steals from the captain’s safe.

- u He follows the freighter on a launcher.



4 = Hehijacks the ship for its cargo.

Question Number : 191 Question Id : 3271671347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘What is usually on a freighter?
Options:

, « Thousands of petty cash.

5 % Tin. oil and aluminum

3 % Buried treasures

4 = Mobile phones and machine guns

Question Number : 192 Question Id : 3271671348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The word heist in the text means :
Options:

, = Selling of the cargo

- » Painting of the ship

5 % Hijacking of the ship

4 « Stealing of the ship

Question Id : 3271671344 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (189 to 192)
Cuestion Label © Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

When people think of pirates, they usually imagine one-eyed men with beards and swords
fighting over buried treasure. But even in this age of satellites and instant communication.
pirates still attack ships on the high seas.

The worst areas for piracy are the coasts of South America. South East Asia. and Africa.
Modern pirates are usually armed with machine guns. speedboats. and mobile phones.

In a typical attack at least 10 men in a high-speed launch will follow a freighter. on which
an insider has usuvally been planted beforehand to provide location and freight details.
Once boarded they will either hijack the ship for its cargo. or. more typically, go straight to
the captain's safe. which usually contains tens of thousands of dollars in petty cash.

Sometimes the ship is repainted and given a new name,. and false documents are used to
create a new identity for the vessel. The pirates” preferred cargo is tin, oil, and aluminum.
Usually. the heist is well-planned in advance on land. As soon as the ship is successtully
boarded. a deal is made to exchange the cargo for money.

Sub questions

Question Number : 189 Question Id : 3271671345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The word fireighter in the text refers to:
Options:

, « A cargo ship

-~ = A pirate ship
5 = Alarge motor vehicle

4 = Afighter ship

Question Number : 190 Question Id : 3271671346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How does the insider help the pirates?

Options:
, « Heprovided details of the location of the ship.

- » He steals from the captain’s safe.

- u He follows the freighter on a launcher.



4 = Hehijacks the ship for its cargo.

Question Number : 191 Question Id : 3271671347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘What is usually on a freighter?
Options:

, « Thousands of petty cash.

5 % Tin. oil and aluminum

3 % Buried treasures

4 = Mobile phones and machine guns

Question Number : 192 Question Id : 3271671348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The word heist in the text means :
Options:

, = Selling of the cargo

- » Painting of the ship

5 % Hijacking of the ship

4 « Stealing of the ship

Question Id : 3271671349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (193 to 196)
Cuestion Label © Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

On a Mid September day. British climbers Rachel Kelsey and Jeremy Colenso were
climbing in the Swiss Alps. They were both experienced climbers and when they started.
the weather was good. They reached the sumunit but as they started the climb down. an
electric storm struck the mountain.

Snow began to fall, making it difficult to see where they could put their hands and feet on
the rock. After several frightening minutes. they found a narrow ledge and climbed on to
it, hoping the snow would stop and they could climb down.

The snow did not stop and the temperature dropped to -5C. They decided that they had to
get help. Rachel had brought her mobile phone with her. She was unable to contact the
mountain rescue service on her mobile phone and the only number contacts she had were
in London. She sent a text message at 1.30 am to five friends in the UK. It read: ‘Need
heli rescue off north ridge of Piz Badile. Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped into action and immediately
contacted the rescue services in Geneva. He texted Rachel back saying: T'm on the case’.
Even then. rescue was impossible because of the treacherous weather and the mountain
rescue team had to send a text message to Miss de Kelsey telling her she would have to
spend a second night on the mountain. They could reach the stranded couple only at §.15
am the next day. At about 1.00 pm they were lifted off the mountains in helicopters.

Sub questions

Question Number : 193 Question Id : 3271671350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
They could not climb down because :

Options:
; = They had forgotten the route.

5 w Ihemountain was very slippery
5 « They could not see properly in the snow.

4 # Itwas very cold

Question Number : 194 Question Id : 3271671351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What did Rachel do as she was sitting on the ledge?

Options:



1 ® She sent text messages to Jeremy Colenso.

- u She sent text messages to friends in Switzerland.

5 o She sent text messages to friends in London.

4 % She sent text messages to the mountain rescue team.

Question Number : 195 Question Id : 3271671352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What did Cunliffe mean by ‘I'm on the case’?
Options:

| o lam doing what needs to be done.

- w lcan’thelp you.

5 # I am coming to meet you.

4 = lam getting lawyers.

Question Number : 196 Question Id : 3271671353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How long did Rachel and Jeremy spend on the narrow ledge?
Options:

1 +« Almost 36 hours.

> w Exactly 10 hours

= % Almost 24 hours

4 % Around 12 hours

Question Id : 3271671349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (193 to 196)
Juestion Label - Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

On a Mid September day. British climbers Rachel Kelsey and Jeremy Colenso were
climbing in the Swiss Alps. They were both experienced climbers and when they started.
the weather was good. They reached the sumunit but as they started the climb down. an
electric storm struck the mountain.

Snow began to fall, making it difficult to see where they could put their hands and feet on
the rock. After several frightening minutes. they found a narrow ledge and climbed on to
it, hoping the snow would stop and they could climb down.

The snow did not stop and the temperature dropped to -5C. They decided that they had to
get help. Rachel had brought her mobile phone with her. She was unable to contact the
mountain rescue service on her mobile phone and the only number contacts she had were
in London. She sent a text message at 1.30 am to five friends in the UK. It read: ‘Need
heli rescue off north ridge of Piz Badile. Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped into action and immediately
contacted the rescue services in Geneva. He texted Rachel back saying: T'm on the case’.
Even then. rescue was impossible because of the treacherous weather and the mountain
rescue team had to send a text message to Miss de Kelsey telling her she would have to
spend a second night on the mountain. They could reach the stranded couple only at §.15
am the next day. At about 1.00 pm they were lifted off the mountains in helicopters.

Sub questions

Question Number : 193 Question Id : 3271671350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
They could not climb down because :

Options:
; = They had forgotten the route.

5 w Ihemountain was very slippery
5 « They could not see properly in the snow.

4 # Itwas very cold

Question Number : 194 Question Id : 3271671351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What did Rachel do as she was sitting on the ledge?

Options:



1 ® She sent text messages to Jeremy Colenso.

- u She sent text messages to friends in Switzerland.

5 o She sent text messages to friends in London.

4 % She sent text messages to the mountain rescue team.

Question Number : 195 Question Id : 3271671352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What did Cunliffe mean by ‘I'm on the case’?
Options:

| o lam doing what needs to be done.

- w lcan’thelp you.

5 # I am coming to meet you.

4 = lam getting lawyers.

Question Number : 196 Question Id : 3271671353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How long did Rachel and Jeremy spend on the narrow ledge?
Options:

1 +« Almost 36 hours.

> w Exactly 10 hours

= % Almost 24 hours

4 % Around 12 hours

Question Id : 3271671354 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (197 to 200)
Juestion Label - Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

First introduced i 1927, The Hardy Boys Mystery Stories are a series of books about the
adventures of brothers Frank and Joe Hardy. teenage detectives who solve one baffling
mystery after another. The Hardy Boys were so popular among young boys that in 1930 a
similar series was created for guls featuring a sixteen-year-old detective named Nancy
Drew. The cover of each volume of The Hardy Boys states that the author of the series is
Franklin W. Dixon: the Nancy Drew Mystery Stories are supposedly written by Carolyn
Keene. Over the years. though. many fans of both series have been surprised to find out
that Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and
Carolyn Keene never existed. then who wrote The Hardy Boys and Nancy Drew
mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called
ghostwriting. A ghostwriter writes a book according to a specific formula. While
ghostwriters are paid for writing the books. their authorship is not acknowledged. and their
names do not appear on the published books. Ghostwriters can write books for children or
adults. Sometimes they work on book series with a lot of individual titles. such as The
Hardy Boys and the Nancy Drew series. The initial idea for both The Hardy Boys and the
Nancy Drew series was developed by a man named Edward Stratemeyer. The initial
ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A
few years later, Mildred A. Wut. a young writer from Iowa. began writing the Nancy
Drew books.

Sub questions

Question Number : 197 Question Id : 3271671355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage. the Nancy Drew mystery series was infroduced in;

Options:
1 % 1925

o ® 1927
= % 1929

4 « 1930

Question Number : 198 Question Id : 3271671356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the passage. which of the following people was a real writer?
Options:

, = Carolyn Keefe



- % Franklin W. Dixon
5 « Leslie McFarlane

4 w» Edward Stratemeyer

Question Number : 199 Question Id : 3271671357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage. a ghostwriter is someone who?
L writes about mysterious or strange events
II. does not receive credit as the author
ITI.  bases his or her books on predetermined guidelines.

Options:
; = lonly

> w landII only

5 o IT and III only

4 % I.Tand I

Question Number : 200 Question Id : 3271671358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of these titles would best illustrate the content of the passage?

Options:
» Hardy Boys and Nancy Drew

Do

- = Mystery Stories

5 % The Art of Ghostwriting

4  Ghostwriting and Mystery Stories

Question Id : 3271671354 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (197 to 200)
Juestion Label @ Comprehension



Read the following passages carefully. Listed below are four options beneath each
question. Choose at the option vou find to be in accordance with the content of the
passages.

First introduced i 1927, The Hardy Boys Mystery Stories are a series of books about the
adventures of brothers Frank and Joe Hardy. teenage detectives who solve one baffling
mystery after another. The Hardy Boys were so popular among young boys that in 1930 a
similar series was created for guls featuring a sixteen-year-old detective named Nancy
Drew. The cover of each volume of The Hardy Boys states that the author of the series is
Franklin W. Dixon: the Nancy Drew Mystery Stories are supposedly written by Carolyn
Keene. Over the years. though. many fans of both series have been surprised to find out
that Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and
Carolyn Keene never existed. then who wrote The Hardy Boys and Nancy Drew
mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called
ghostwriting. A ghostwriter writes a book according to a specific formula. While
ghostwriters are paid for writing the books. their authorship is not acknowledged. and their
names do not appear on the published books. Ghostwriters can write books for children or
adults. Sometimes they work on book series with a lot of individual titles. such as The
Hardy Boys and the Nancy Drew series. The initial idea for both The Hardy Boys and the
Nancy Drew series was developed by a man named Edward Stratemeyer. The initial
ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A
few years later, Mildred A. Wut. a young writer from Iowa. began writing the Nancy
Drew books.

Sub questions

Question Number : 197 Question Id : 3271671355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage. the Nancy Drew mystery series was infroduced in;

Options:
1 % 1925

o ® 1927
= % 1929

4 « 1930

Question Number : 198 Question Id : 3271671356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the passage. which of the following people was a real writer?
Options:

, = Carolyn Keefe



- % Franklin W. Dixon
5 « Leslie McFarlane

4 w» Edward Stratemeyer

Question Number : 199 Question Id : 3271671357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage. a ghostwriter is someone who?
L writes about mysterious or strange events
II. does not receive credit as the author
ITI.  bases his or her books on predetermined guidelines.
Options:
; = lonly

> w landII only
5 o IT and III only

4 % I.Tand I

Question Number : 200 Question Id : 3271671358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of these titles would best illustrate the content of the passage?

Options:
» Hardy Boys and Nancy Drew

1
- = Mystery Stories

5 % The Art of Ghostwriting

4  Ghostwriting and Mystery Stories



